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More Information

One of the difficulties with the number crumb is that it
only outputs numbers between 0 and 99.

This means that any inputs over 99 are not recognised.
The Distance sensor inputs 0-400
The LDR sensor inputs 0-255

The programmer will need to adapt the input number
to make it fit inside 0-99 using maths blocks
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In this example the distance sensor 0-400 has been

divided by 4 so that it will almost fit into the number
counter.

One digit on the number counter is now equal to 4 cm
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